Maths: Counting in 10’s

Today we are looking at counting in 10's. If you need a recap of this skill, here is a lesson and a video to help: https://vimeo.com/425797444 and

https://www.youtube.com/watch?v=Ftati8iGQcs.

Activity 1: Using the 100 grid, colouring all the numbers you land on when counting in 10's.
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Challenge: What pattern do you see when counting in 10's?
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Maths: Counting in 10’s

Activity 2: Solve these counting in 10's problems.
) How many muffins are there altogether?

There are

There are

trays.

There are

o How many opples are there altogether?

muffins on each tray.

muffins altogether.
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There are
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ten frames.

apples altogether.

apples on each ten frame.

€ How many counters are there altogether?
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counters altogether.

) Complete the number tracks.

10

20

70

50

Activity 3: Use the stem sentence to help answer
this problem.

In a shop, grapes come in bunches of 10

Max wants to buy forty grapes.

Are there enough grapes?

o Tom has these balloons.
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He needs 60 balloons for a party.

Does Tom have enough baolloons?

How do you know?

There is/is not enough grapes.

I know this because
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Answers:

Activity 2: Solve these counting in 10°s problems.

Q) How mony mutfins ore there altagether? ©) How many counters ore there altogather?
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Activity 1: Using the 100 grid, colouring oll the numbers you land on when counting in 10's,

In a shop, grapes come in bunches of 10
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Max wants to buy forty grapes.
Are there encugh grapes?

There is/isat enough grapes.

I know this because
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